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GRID-IN QUESTIONS
QUESTIONS 58-62

DIRECTIONS: Solve each problem. On the answer sheet, write your answer in the boxes at the top
of the grid. Start on the left side of each grid. Print only one number or symbol in each box. Under
each box, fill in the circle that matches the number or symbol you wrote above.

« Do not fill in a circle under an unused box.

* Do not leave a box blank in the middle of an answer.

58.

LAST YEAR'S TOTAL SALES

Vehicles Number

Four-door cars 5,850

Two-door cars ——> 2,250
900

( 9,000 )

—

Trucks

Total

The table above shows the number of
each type of vehicle sold at a dealership
last year. If 1,000 vehicles will be sold
next month, what is the best estimate
(based on last year’s sales) of the number

of two-door cars that will be sold?

2250
7000

o :|’\ Ao —door cars _

total cors

2250 est+

000~ OO number h be

\__30l4d

est = 22001900 2250

C\
250 @R

4d2750

FORM B

59. In a scale drawing of a rectangular
garden, the length is 15 inches and the
width is 9 inches. In the drawing, 2 inches
represents 3 yards. What is the width of
the actual garden, in yards?

SLq\e,j in

Suds
Q-r\r\ '1-7 2}( |
S 13&‘
60. A kindergarten teacher has 72 crayons,

60 pencils, and 84 sheets of paper to
distribute to the children in her class. If
each child receives an equal number of

each item and there are no items

remaining, what is the greatest possible

number of children in the class?
e W\c\e,r‘!:j\ Conceph s
grentest cawrm Coadar (ot )
GCF(72, 60,34):

dde by @UILCOTY

g Pf\f\'\ @ 36 ‘SD ‘*Z

MU\l“ﬁ
H\ese.ﬂ/ Lﬁ»%
GLE= Z» 2> @@ ¢, S,

N\O LOMmMon

dvisers ek 4
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61. Mr. Smith opened a retirement account 62. Solve the equation for x:

with a deposit of $900. This account earns
e T terech ot UADx _ (g7s

5% w annually. How many o =
Tk for hi : (49)(48)
years will it take for his $900 deposit to ?)

%
earn $360 interest? M * M Q _ .ﬁ-—
. —_ i g g
Swaple Locaciple v(obe » e /q/f{xt\g 43
vnferest 7
30=a00 T 2+ -

Yo 1—00 = 0.975
O —
360, up HO) g .
ﬂ@? 5 D as you know, 37 ig 3718

H\Efﬁpore, X =®
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MuULTIPLE CHOICE QUESTIONS

QUESTIONS 63-114

DIRECTIONS: Solve each problem. Select the answer from the choices given. Mark the letter of
your answer on the answer sheet. When you are solving problems, you can write in the test booklet

or on the scrap paper given to you.

63. What is the value of

64. On Fran's map, 2 centimeters represents

3 kilometers. The points on this map that
represent Fran’s home and Bryant State
Park are 4.5 centimeters apart. How many

kilometers apart are Fran’s home and

Bryant State Park, to the

kilometer? 2
E. 3 5L°J€/: "'%(—V\
3 Am
F. 5
@7 2em < 4 Gem
H. 9 3 IL.m <

x =Y.G 7‘5:1_3_._3
x=G.18%

FORM B
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65. Solveforxintermsofyif2x + 4 = y.
2
B. x = 2(y + 4)
C. x = y + 4
2
D. x = 2(4 - y)
66. Bryan completed a 100-meter race

in 11.74 seconds. Luis completed the
same race in 11.69 seconds. What was
the difference between their times,

expressed as a fraction of a second?

14,74
11,69

L - G
10 -2 =
00§ Jre
G. S
20
H. L1
5

CONTINUE ON TO THE NEXT PAGE »



67. A total of 24 students in a math class took 68.
a 100-point test:

(9) * None of the students scored 100 points.

(,b) s 75% of the students scored less than
82 points.

CC}' The lowest score in the class was

54 points.

Which box plot best represents the test

scores from this math class?

Aqé}s (5’3: TEST SCORES

D B s e B B B e

50 55 60657075 80 859095100

Q% cepresents the 3] Q}*&d';f{’,

TEST SCORES

207
100

n = 0.13 +

What is the value gf n expressed as

a fraction?

9 .—-""""_——'-J

G. = —
4 40P

H. 23
10

£

Attt 69.

505560657075 80859095100

F \S @ TEST SCORES

I—:I:l—l
D B B s e B B

50 55 6065 7075 80 8590 95100

D TEST SCORES &*‘\j

1
D e s B e

50 5560657075 80 859095100

A oy s
T
™med | G

E—n\’cr Quactile annje, CLGK)
LoR=0,- 0y

FORM B 194

The perimeter of a 12-sided polygon is

100 centimeters. The length of one side is
55 centimeters. The length of another side
is 35 centimeters. The remaining sides are

n length to one another. What is

the length of each of the remaining sides,

in centimeters?

(,“-a um{- CDY‘NC"SOR ne,caeéo)
5 12 sdes - L5(mside

c. 20235 made means 10
P-4 slaes (e
emai ing =100~ 26 - 35 =40

"ID(,M
Dedes Jrvbide

CONTINUE ON TO THE NEXT PAGE »



70. Shiow-Chen has a box that contains 4
green cards, 7 yellow cards, and 6 red
cards. She randomly draws one card at a
time from the box and does not return the
cards to the box after they have been
drawn. The first card she draws is yellow.
The second—(-:;rT:I. she draws is green. What
is the probability that the third card she

—_—

draws will also be green?

G.
PO
H. L %(‘5{- Se(Dnc\ "(\V\\’(‘A
R H 2 -
1 Ao 19

71. Each number in a sequence is 3 more than

twice 'ghe number that cf}(nes just before
it. If 9

number comes just before it?

is @ number|in the sequence, what

A. 92
B. 90
C. 48

(By4s q"S:,ZP t
-3

9o ‘f%r;
2
(9=

—

2p +3
3
3

-—

FORM B
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72.

(H) 8.1 2

On a map, the distance between
Deshawn’s house and Xin's house

is 5.4 inches. If 2 inches on the map
represents 3 miles, what is the distance

between these two houses, in miles?

E. 2.6 S(_@be ?_*__‘_f_‘___._
F. 3.6 3 o1 (LS

G. 7.5 SL\ ‘e
-~ —
ad miles

354 :%2__

3 n’\l‘&S

a =
=%

73.

2401

This wheel has 15 spokes, equally spaced.
What is the measure of théangle between

adjacent spokes?

a 300 & Cecle has SQD&.

C. 15° S%Mu SP”“C&A 5PDKES

D. 120 Meons A Q%mll 590\(_33 PG\AS
Twerelore 3‘3%3- -

Chec\

'_-.‘_—.______,_._.--

21
A5

FRaRy
y L
26 O
CONTINUE ON TO THE NEXT PAGE »



74. met=72 76. Orange juice costs $2 per gallon, and
grapefruit juice costs $3 per gallon. A

For the equation above, what is the sum recent shipment of egual amountsjof the

of the values of m when t = 1, when two typescosts a total of $250.

; 5 d when ¢ 3 How many gallons of orange juice are in
= 2,and whent = 3%

m y_l__ - —7 2‘ the shipment'.l? .
:_' 71,2 Myl 272, m= 7 @50 J?rk('_e,os-‘gz
P ML T2 Lm=36 o 100 PCilege =33
—.1.1 MY_._S_, - 72’.. . :2'4 H. 125
F3C equal amounts so
~20
75. /ZA'F"\’)-AQ'\—OSPB A’mwc*@l:: ZED

Substitude Amo,at F

— 2oout, gt 2260
I 16 ft | Amomjf :/EQ

=)
The diagram above shows a rectangle with AMDUQ'\' _@
°F ~

an inscribed triangle. The triangle’s vertex

o
~+

5

|—

and base touch the sides of the rectangle
as shown. What is the total area of the
shaded portion?

A. 32sqft ASkadeA: Ar(df Lee
B. 64 sq ft

96 sq ft
D. 128 sq ft

Aoy = d7W=16%3-40%
1
Avei=Fbh =g~ 4<16=32

Ahoded =403 - 52:
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77. Five consecutive numbers have a sum of

110. What is the least of these

consecutive numbers?
~x ond x+ 1 ore

A. 11 consetunbive

B. 18

(©20

D. 22

xa-xt-j__bxr'z%-x"s-'rx“'q -410
Ox +1D = i]_/l_o
-Yo - 10

Ce = 100

Chec A

20+94 422 23 M= MD\/

FORM B
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78.

—mn
(=m)(—n)
lmni
|—mnl|

[(—m)(—n)|

If m and n are positive integers, how

many of the five expressions above are

/ tocast
E. 1mn’ POS¥pE0S Z POS ei.;p?zbs'.on
- 270n; -pos = ne

G. 3
C N EN); nea *neq < pOS
@4 \mnl? mbbo\m@va\mjm&

\-mn\; so a\so pos

() ) |2 so s pos

equivalent to mn?

CONTINUE ON TO THE NEXT PAGE »



edion
MmN Ql 4.7 Q?)

35,33,3.9,454.649,5.4,6.0, G:lc;g

79. A vendor is selling 10 packages of
homemade fudge at a bake sale. The
vendor weighed and labeled each
package. The package weights are given

in ounces:

46 6.0 3.8 3.5 45
54 3.9 6.5 4.8 6.2

The vendor created a box plot of the
package weights. Which box plot best

represents the data?

X

PACKAGE WEIGHTS

«I—I—EF—E%H—I—»

3354455556657
Ounces

PACKAGE WEIGHTS

o S G—

<ttt
3354455556657

Ounces
@ PAC
J

3 354455556657
Ounces

B

EIGHTS

%

PACKAGE WEIGHTS

S

1>
3354455556657
Ounces

FORM B

80.
FRUIT SOLD
AT STORE XYZ
Fruit Number Sold
Apples 8
Bananas aAld
3 &
Cherries 2 o €3
Oranges + 6 / 32'
Peaches ?
Total 50
17
o=

Peaches made up what percentage of the
. —_— . 1
total number of pieces of fruit sold at

Store XYZ, according to the table above?

E. 18% 1D 3‘5
F. 28% O ’0
(6D 36% 5 40
H. 64%

o b}

81. A prism is made up of 9 congruent cubes.

Each of the cubes has side lengths

measuring 4 units. What is the volume, in

cubic units, of the prism?

A. 108
B. 144

576
= Lk =4xH*Y
= Ll 3 - CDL\ UI’n““S

Verism Zax Ve ® qy G’L':

198 CONTINUE ON TO THE NEXT PAGE »



82.

The town of Waterville covers an area of

50 square miles. In its population
was 84,000. In its population had

so that the average population

per square mile was equal to 1,500. What
was the total decrease in population from
2005 to 20067

e, 7300 1005 1000
F. 8,400 QDS%M&]&S
9,000 .
H. 9,200 QGDG'—D——lS O
1500 P lsq miles
- S0 L0000

- 1Sbo'< 5o~ 75000 22000
P- O @'DDDS

83.

The box plot below represents a
set of data.
mn Y median ®1 L Mo
—
0 6 12 18 24 } 30
31

What is the interquartile range of the

e e,
set of data?

A. 9
B. 12

@3
Tnter Quack]e Ran 3& isIQR
TQR=0;-Q,:25-6 @

FORM B
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84.

Mmedio

= {6, 7, Ll/ 21, 22}

17_ 6 1&) *'1._ 1:] CD!‘SELU*WC \'\“’-&‘S

Set L (not shown) is a list of 25
consecutive integers. The of the
integers in set N above is equal to the
least integer in set L. What is the

of the integers in set L?

E. 25 The medinof N is its center

@ 26 :\r'd'c,‘jef That wowld bLHne. ‘3\&\\
7 iR rieges, which wowld be

H. 28
NE,(L fold the m@.c\uan UCN 'S e

mM; M D'p L Smce LLOV{I'UUF\S 25
elements Hie vedian of L mustbeits
13th inte g Thatsi+ 13-4 :L

85.

The sum of the numbers x, y, and z is 40.
The ratio of x to y is 1:2, and the ratio of

y to zis 2:5. What is the value of y?

A.2K'_:]r =4O —
B. 4 xr.
fo 1:2 Alignthe
‘2 Y olumns
-5
Xvy.Z
1.2:9 fﬁ?‘)mds

I€each
_Hr\@r\ 4’\’\({

! Mepresen +5
CkEC_K 510

partl epresentst 5
(atio 4 ,2_, g
510) 25

F5=4H0O

CONTINUE ON TO THE NEXT PAGE »



* and x+l Qe cor\se,c,uﬁve,

va+lfx+2er31 uY—"G
86. Which number could be the sum of 88. Ifxy = 30, what is the value of 10 + xin
4 consecutive integers? terms of y? —
le_-r-G: -17 = ;1:3- ,1 K = 30
6 6 x-2B-y= £ L1, I

@ IOL‘XVG-ADW " 10 % =30
G. -8 m@“'zﬁ @%y iO%X-EiOf%‘j—Q
I.l

e .6 U= = 'ﬁ-_""
H:Q—4 le*‘G"‘ Z G. 3y KC-I: KQCP C}\c\f\\ﬁc I:’\p
;LQ .‘:\n e 50\\; ? d\\LS\O\n b aQ‘aC‘]'\On S
ese +Hrere | H. 10y Mb\lhpl\co\ﬁmb s reciproal
X C@nmot pe ga in eje_r S‘DQQ- : e

10 = 109 _ '
87. % ~ 30 "

PRICE OF A USED VIDEO GAME AT
VARIOUS STORES

. 89.
Pr-|ce of Used Number of Stores
Video Game b a A\
$10.99 5 < 1*% 3 5*% >
$11.99 2
$12.99 1 On the number line above, how many
$13.99 + 4 units longer is QR than PQ?
12 total N
The table above shows the price of a 1 5 9_-__ _ S - Zf—_—_—_
certain used video game at 12 different A. 6 ¢ _‘]_G 92
stores. What is thprice of this . 3 ]:3“:‘. /]_3
video game?__ 5 1
There ae 5@ iOGlO\ 2 G\ﬁ\i?_
A. $10.99 6"\ H/'\E [OL/«) Qf\d 0 .\-\Nl > — _?__ =Y
B. $11.49 h C 3 3 2L

high end He |y, \%Jf C,
$11.99 &
@1;1232 &l1'172 aq m3/136|q D 3 é:@
That lecves @’],’], 94
Tke,ra@re s the median
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\

90. L 10%
|

1067 =70 = 30T
The distance from W to X is 70% of the
distance from W to Y. If the distance from
X to Y is 15 miles, what is the distance, in
miles, from W to X?

AN
WX = = wy

100

E. 10.5
35

@45 ?(':'):15 ‘3260500\’0‘
H. 50 - XU— wa

7«{18 * Ao
3’0 ’3 37
W3 ﬂE'DQ —%56*50:@

91. There are 3 different highways from
City W to City X, 4 different highways
from City X to City Y, and 3 different
highways from City Y to City Z. How many

different routes are there for a trip from
City W to City X to City Y to City Z?

A. 10
i,
B _T2— w0
H2
. H'J- —Ts3 H.
L H3 ;_,H_EL—\'{ Wy L
2 X L X 9
FORM B 201

92,

In Center City, the ratio of people to dogs
is 4:1, and the ratio of dogs to cats is 3:2.

What is the ratio of people to cats?

E. 2'1P"A Ahjn +he

F. 73L}

@ 6:1

d columns,
Y., L Scale erch reka
' 7 to eoth other

: s
1 :

P . N
e 350

uoUDO-\

93.

The side length of square S is shorter than
the side length of square T by

1 centimeter. The area of square S is

9 square centimeters. What is the
difference, in square centimeters, between

the area of square T and the area

of square S?

P

7 am — T

C. s

D. 10 A >
%\

Aceo 2 9 Lem

CONTINUE ON TO THE NEXT PAGE »



94. Which expression is equivalent

:T r 1-1 __?':é-..
--?":'7( ____/_\_ 9 - -5: =+ 9
95. Howis £ — L written as a single
X 2x
fraction? (Assume x # 0.)
A x pA 1
L ——t —— —
o 2x X ,,L 21X
12 4
B. —
3x — T = =
L1x  2x
c. -1

x S{nCe,%;s’Lwe hawe
-1 L kb
p. -1 not chonged = bw

) .
We et waode ik &

Vil ferm™ W\H\—j—'—
7x

FORM B 202

96.

In a certain competition, 1 person finished
in first place, 5 people tied for second
place, 10 people tied for third place, and
the other 4,984 people did not place.

What percentage of the people in the

competition placed first, second, or third

altogether? Plo\(_e_ATleA

E. 0.0032% 1<t 1

F. 0.032% .4 )
(6))0.32% 2 10
Ho32%  Didal Uy

Placed 4 poqn 26,232

- -
ETs P, 0o lheraily means dvided byt
97.

Angle A and angle B are complementary.
—— e

If the measure of angle B is three times as

great as the measure of angle A, what is

the measure of angle B?

A. 450 COMP. A0 &«

B™67.5° SUPP- 130
C. 75° Ps*%’-‘— a0

D. 135°
6= 3
Substituke B ia C b e,abua\“mn
Peedp = 4D
W p =40
A=722.5
CEGEY,

(can also substiore Q:( P&B

CONTINUE ON TO THE NEXT PAGE »
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98. The height of a tree in 2013 is 300% of 100. A certain square puzzle has an area of

—

the height it was in 2003. By what 64 square inches, and a cubic block has a

did its heighver volume of 64 cubic inches. What is the

this ten-year period? ratio of the length of a side of th

o 1013 .‘ 'SDQB [D WOf the(block ‘13 l\:\r\u?k‘o(ﬂﬁ?"
*P3% 2ovy: 100%, 13 N 07O Cartbenie
F. 100% 200°%, G. 2:3 ,,Sd¢ r&"‘m:? o

Sq,umoM
% New-0ld @21 . _
()00 New-04 20 A7) V', =G 2, Sidegp, NG
H. 300% Ol 100 (bhe .
Sidesqpace D~ (2 = 4din
ExrE 26

101. In a certain class, Rosa will take a total of

4 tests. She has already taken 2 of the
= —— —
99, 1 gallon =16 cups tests and earned scores of 81 and 83.

1 cup = 8 fluid ounces
What is the@ossible score Rosa can

earn on the third test and still be able to

If 1 gallon = 2* fluid ounces, what is the

| £ 32 finish the class with an average score of
value of x7

85 on all 4 tests? (Assume that test scores

can range from 0 to 100.)

A. 4
C?:; 76P< 2 Pum$s

D. 64 B. 82 VS' _EJ%——
16 1ok - A6 c. 88 T2 pffechs Hre Hard Fest

TE: ;( 3 Lo 1723 £. oz, p- 90 T'——\ (E,QQ.C‘(S e 1(&)(-\% test
4 715 . For TS Yo be Hne (eask PDSStHEI
1627 ?O?TL\ would be Yhe mesr
IrJ_QE ¢l 02,2 27{ 4 S ble. e TY Would ot 100,
198 L2 L= 35= 33+ 31134100

- L o -
=7, x=(] 3'—10-%3’«‘31'1'3 A0
+ D 340: 2T
~2¢H -24u
SAAR
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102. The Bafnes family and the Ra%rez family
each have a pizza of equal size. The first
pizza is cut into 18 equal slices, and the
second pizza is cut into 15 equal slices. If
the Barnes family eats 11 slices from the
first pizza, what is the greatest nhumber of
whole slices from the m
m family can eat without eating

—
a greater percentage of a pizza than the

-"_-_—.-——_ .
Barnes family ate?

E. 6 E:\}uo\\ PIzzas

% - \11&6,0&0\ [\P\ ook en

@9 1'3 ’”5 0ot (™ 159\

i

103. 03 + 4% 4+ 271 4 (—1)?

What is the value of the expression above,

in decimal form?

A 0 knovs v exponent rules)
B. 0.5 B(ue ly Lonbdu

C. 1.5 '4 Lll

.25 b

9: 1__1_,_2
B¥=5 AT T

Oquﬁ+2“ . (‘:j_)’l‘:-
+1 4—%_ + /_]_"‘

FORM B

104.

Four slips of paper numbered 1, 2, 3, and

4 were placed in a bag:
* One slip was selected from the bag, and
the number recorded.

o Without replacement a second slip

WaschoseT——— UWC\}*Q Ai 3 ""‘S

* This process continued until no more

slips remained in the bag.

. \ncomplede .
e One part of a tree diagram representing
———"'.—-—

the sample space is shown.

Which number should be placed in the box
to complete this part of the tree diagram?

E.1]{ e a(re_od selected

@21 2 omd u( anc\ L Co\nJr

H. 4(&uS£ o A‘léllr (,Hnaff 'S Whott
w\%'lr\ou& ('Up\ ncement

Yells ug) then Fhe galu Aot
[Q__p_{ ‘\S@ Dt\\j 6

CONTINUE ON TO THE NEXT PAGE »



105. The outdoor temperature was 4.2° F at

10 p.m. After 3% hours, the outdoor

temperature was —0.7° F. Which value
best represents the average change in

temperature per hour?

~1.4° F@_O Pm*B.g hre, :1:3 D"%

B. ~1.0°F/ ’.\Dplm

[

C. 1.0°F | de.Lfms'rna [
o 0.7 £ H.2
H.2--0.7 =u. 7“10'&13% i

Y.4q 3,60 0 eLeTSE
3.8 Jf So-4.9

350 qp0

106. A rectangular swimming pool of uniform

depth is 20 yards long and 14 yards wide.

If the water is 6 feet deep, what is the

volume of water in the pool, in

Unit (onvession ¢

E. 40 '\(
L2 S e Lk
H. 1,680 Dont d@ s’
G feejf =2 3 rc\S
;U= 20x 1422
FORM B 205
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107. Set

{3,4,5,6,7}
3t heg S lementg

A student made a list of all possible
B

products of 2 dlfferent numbers in the
set above. Wﬁat fraction of the

products are odd?

T'oJer proclwtlrs PDSS\\D‘&

A- o5 0 =6 =8
. Bud' it wants DTFFERENT-
10 products S0 5 =Y - 2{)&)
c 1 Slotl ShtL

2 B*—d"grw choce da Gy

3 3*7ano’rkaf7 3 1% posSible.
%5 S 22210 total M

0x0D=0 ThEc)cla\#sa\rE-357
O<E=E 503%7 =6

y Sief < 2 C
E O E (onsid Qrgd ':‘:do >

-E diflecents

‘%g bef_&use, A¥b isthe same as b ¥ i
108. A number, n, is divided by 25. If the
r_._-—-—-—‘_—
quotient is 10 with a remainder of 5, what
'.---—'-_.__\__'_

is the quotie\ixpresseid
(E) 10.20
lb

as a decimal?
Fenos a2’

F. 10.2515
G. 10.50 N
foy 102 G020)

CONTINUE ON TO THE NEXT PAGE »



109.

The garden design shown above is created

in the shape of three’semicircles whose

diameters lie on the sides of an|equilateral
triangle. If each diameter is 2 meters
long, what is the perimeter of the garden,

in meters?
A cwcle hos o, Se,ﬁmefttr

A- 6 Twe peimeterof o cirde is
B. 12 ‘I'f) urau«\?erenml
L 2= O

AT
. But ﬂmu are Sem Gre les.
" Sobail Fench st Grdes
CmeM"TPU&nc.Q is 21 -

So the cir“cumperenc_e ot Phes
2 gemicircles 1S SXT

D.

FORM B 206

110. Micha is playing a game with five cards
numbered 1 through 5. He will place the
cards in a bag and draw one card at

random three times, dythe card

“each time. To win a prize, he must draw
the number 5 all three times. What is the
probability he will draw the number 5 all

three times?

Todeswo B is (}Lpﬁu\gcd:mjL
1 oFL S\ e eploce eac

125 Hme, each dreyn of G 150
Prcs\oo.b [t OC_5— Th 'S Means

we nees ‘o Solue’

P ANDP AND P

H-% Mo\{‘hemod"c& "RND“

MGPS ES MU\H‘IP’I(G\JV[ onN.
So the probabils Y asked
of +S" 4

N5

125

b 5
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111. The speed 10 meters per second is
equivalent to how many feet per hour?
(Use the approximation
1 foot = 0.3 meter.)
W 2ol cone)

valuwes bul-we can
RISD cancel units

A. 10,800
B. 12,000
C. 36,000

120 000

fo W e 2%

10 > @0*60"1
ST 1% 1x4%03

+
o3 %ﬁ
G.

36000
- | —_———
-] 0.3

- OOD Druse Hhig
@Q 00 seconds
060U secdnes

1 hour

FORM B

112. 6.34 — 4.12

What is the value of the expression above,

written as an improper fraction?
E. 24
11

£ 224
101

111
50

H. 20

e Q.SL} J00R. 634,34
- R -634

e
AR=28.00

9

oy

=412 ¢(>DK 41212
- R M1

AR '—ID‘B 00

CL'l/M

03 _
% ~H7gq

a9

232 -
TL you Know your re.pe_c\hnfj
decum&f rules M&Mﬂ
Shortunds to doms His
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113.

Acen o

- A{'EO\T‘
Lines s and t intersect at point P (3, 5).

What is the area, in square units, of the

shaded region in the graph above?

=dw 15:&3:’&5

A. 2
Areo
B. 3 reck 1 1
@4/—\%0&—\-&: Zoh= 3(3)(‘5_13
- 7 :%CDL"D'-GJ

an

Aera: 7 bh= Z (3-D(E)
=Z D@5
- - Are —'A e
Ariu:\s,ma‘Ea recy oy “r
i 650
FORM B 208

114. A box contains 14 red marbles, 10 black
___—-.

R

marbles, and 16 white marbles. How

——

manhite marbles need to be

—

added to the box so that the probability of

randomly drawing a white marble is é

E. 8 1"[1' NQ..rL')fo\A
F. 10 10bl Pro =3

Gmatoh | O
th)lro%ci
Prob

IRTPIRTS

TF we odd moct Lnke We ako
In (2082 -Pna TBJTO\ TQ & [Q+
ML rap(esmi' MO e :th e gt
does Nt uield =—=— ﬂ.[-,-r m 16~ o Trghonnd
\1-5 dds'ﬂ?:* M wklchas 35‘

4o e
Do ¢ross product
g (_1G + W'\U;\}'— (4D + ML)

0*5ww=1%0*3m~
Smw =U4D ¥ 5

~d

THIS IS THE END OF THE TEST.

IF TIME REMAINS, YOU SHOULD CHECK
YOUR ANSWERS. BE SURE THAT THERE
ARE NO STRAY MARKS, PARTIALLY
FILLED ANSWER CIRCLES, OR
INCOMPLETE ERASURES ON YOUR
ANSWER SHEET.
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